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Finden Sie die Prozente

Name:

51 x

89 x

26 x

47 x

80 x

5 %

45 x

26 x

40 x

% = 35.7

% = 35.6

% = 20.8

% = 14.1

% = 40

% =3

% = 18

% =234

% = 28

% =414

20 x

56 x

97 x

70 %

74 x

85

18 %

36 x

57 x

Datum: Ergebnis:

% =2

% =224

% = 67.9

% = 63

% = 606.6

% =25.5

% =9

% = 3.6

% =15.7

% =224
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RO0CCw

Finden Sie die Prozente

Name:

51 x70% = 35.7

89 x40% = 35.6

26 x 80% = 20.8

47 x 30% = 14.1

80 x 50% = 40

5x60% =3

45 x 40% = 18

26 X 90% = 23.4

40 x 70% = 28

69 x 60% = 41.4

Datum:

20 % 10% = 2

56 x40% = 22.4

97 x70% = 67.9

70 X 90% = 63

74 x 90% = 66.6

85 x 30% = 25.5

18 X 50% =9

36 x 10% = 3.6

57 x10% = 5.7

28 x 80% = 22.4
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Ergebnis:
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